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_BASIC GEOMETRICAL SHAPES

Mot everyconaept or furmula of solid geometry is covered oo e test. You need nut Lo
memorioe along listof lormsdae twesohie cach and every question. Following concepts and
formulae in addition 1w some basic concepts already known to intermediate leve] students
—» arerequired w solve almost all questions on the test,

‘Rectangle |
—

Upposite Sides are of equal lensth
Perimerer © 2th + by
All angles are of measure 90
Area - bh

'Parallelogram |

= J

Upposite Sides are of cyual length
Perimeter = 25+ b)

Opposite angles are equal but not of 90°
Area'r bh

'Rhom hus_]
™

Add sides are of equad feneth

Penmeter A%

Opposite angles are equal but not of 90°
I

Area =i 42}
¥

_ijqnare“]
Sttt

All sides are of equal length
Perimeter = 45

All angles are of 90°

Area ST or s d2

'Trapezoid = |
L il

All sidesare of dilferem lengths
Permmeter = B1+824+53454

Al angles are of diffcrent micusures

i =
b )
' 5 h
i
d
b
8|
b=
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Aren kthl = B2)

i | =

| Equilateral Triangle |
\ e

Permmeter = 3%

=

3 -
Area - =— 5

"RIGHT ANGLE TRIANGLE |
{ sl

g
iy thagorean Theorem ¢ a” f b~

apposite e Y angle

Circle
(3 D o Diameter
Circumierence - 2mar
AC = BC = Radius = ¢
Arca -
Rectancular Solid
Volume = abe
Surface Arca = 2ab + 2bc + 2ac
h \ Cube
p=h=c
Vilume =27
Surfzice Area = 6a”
Cylinder

5
Yolume = ar-h

Surface Arca

Fior hollow exlinder = 2urh

fir solid ¢y linder = 2aorh = 2nr

3 where “e  the side
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: Complementary Angles: ]

If the two lines are cut by a transversal. the alternate angles
are congzru ent,

IFAB || €D then<1 - <3and-2 - -4 ’ /
- : 473
' { = 12

- Supplementary Angles: | 7

IMtwo lines mtersect cach oiher, then the Opposite anghes are cgual
I Jand <3 b

Complementary Angles:
IF the sum of two angles is 907 the angles are saud 1o

/
be complementary angles A

L
Supplementary Angles: C /3
I the sum of two angles is 1807, the angles are said 4/2

1 be supplementary angles.

c

'SOLVED EXAMPLES ?

DIRECTIONS:

You are given following questions from the topic, with . ar choices A through
D Select the choice which will answer the guestion bese (The orswers and

— explanations of the guestions has been

gaven at the botiom of i5e question)

Answer of each question has been given at the'end of each question.

Lise the space at the right of the options for seratch work,

L. A rectangle is 16 em long and 10 cm wide. 1f the lenath is reduced by h cm and its width is
mereased also by k em so as to make it a square then its area changes by

AL 169 B. 256

. 100 p.9

E. MNone of the above,

| EXPLANATION |
J

tnitial area of the rectangle = 16 = 10 = 160
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As the rectanzle becomes square after change. so both sides are equal. (16— K) = (10 =K) “= K = 5.
Therefore, the new area 15 169, The change in arca i 9

21. 1f the radius of a circle is increased by 20% then the arca is increased by e
AL 440, B. 120%
¢ 144% [¥ Mt

EXPLANATION |
e J

]

Apply formula for chinge. Area ol cirele = ar . Put =1 {no change) and = 1.2 208, incrdase ) New

arca=1 = 1:23 = 144 Which shows 440 InCreasse

T BBt D DE S EAand OA OR=OC = 0D=NE,. B0 ey
15 B30 ‘
Coas D.72 "

EXPLANATION' 4 A
. )

wt center O, toral angle of 3607 1s divided i five equal paris.

23 L0 1 parallel o BC. Angle A cquals T4 Angle B equal 41 Angle AED equals

A4l B. 63 -
(45 [ 106 /&
7
R

, : i
'EXPLANATION Z
.L ]

Extend AL o toueh the sule BC Phe angle Fos the extenio angle of the trangke
Taterion angle is cqual to the sumeol the oppasite interiorng Jes oF Lhe

wiangle Mence = B = TAFAT=TT3

: B
el Al § O eyuals \
A ™G B
ALh B h-180 \\
[T IR R Iy 180k
{- L D
o e N i Y " - it "i:ﬁ{'il, ¥ idamt Lk -.-‘ i i KN
! EXPLW"EI L L e E‘;.-‘w_. 4 b W \:I"
k. J

Angle AGHE 4 angle BOGE = BRI Anishe 0 - angle b Hences angle AGE 180 - b

25 Rados (04 equabs . AB cgumals 2 1he arcs of the shanded portion cquis
Adr B I&n
¢ 2k [ I

EXPLANATION |

A e of <haded portion = Areaof fange cimcie —arci ot smad] el ddm - 3hm - 282
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Ish

s

26 Anangle s 30 more than one —half its complement. Find the angle
A2 B, 30
) 13, pib

'EXPLANATION!

1
%= 30 = — (908 K} & = &)

27, The arca of the trianele is
L. 730 B. 585
O FFD 12, 3344

EXPLANATION -~

[rraw perpendicular as shown in the

hzure. By applving triad (5, 12, 13 ) or Pythagoras theorem the length of the

I
perpendicular - 36, Arca ol cach trimngle « —+ 15 < 36
. a A
< 20 =540 e
he
2R. —ta-egual to
g}
cd e
e P
1 5
bl
L b B

270, Toral area

-

sO1n 15

D T

F i
'EXPLANATION ' !
L y|
Findlthe area of the wrmmgleby faking d as beeht and ©as base
% A rectangudar foe S0 begn b DRI feet s surroumaded o all sides by o conenete wadke S Teet wide
Findthe number of square: feet i the surfige of the walk.
A Iadli B. 5230
{73500 [3, Bhin
Explanation’

S S

Exesbing anga = S0

the walk = GHtil— 306 = Ll

B =500 Fach side 15 ingrensed by M feet, New area

(R LATATHEL IS N Cr ey |
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{FRA{:TICE EXERCISE |

- DIRECTIONS:

e —

You are given following questions from the topic. with four choices A
through D. Select the choice that will answer the question best.

. The answers of the questions have been given at the next page after exercise.

Lse the space at the right of the options for scratch work,

1. Angle ECD equals

A 20 B: 2%

.40 D. 50

2. AD is perpendicular to CD. Angle ADE = 1407, Angle EDC equals

A4 1350

C.120 [.130

3. AB=AC.angleB=a. A=7

Aa-180 B. 2a-180

C. 180-2a D, 180-h B E
AB=A le A=a.: =7 A

4. AB=AC, angle A=a. angle B=7 A

AL b-180 B. b-910)

P Rilk-n

2 D. 180-a B C

5. AB is parallel of DC. Angle B equals a. angle

DD equals="

A.a B. 90-a
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L¥Y )
e |

180-2
G = D. [80-a
6. CD is perpendicular to AB. Angle CDE equals 40°. Angle EDA equals=?
E C
A 40 B. 50
C. 90 D. 130 4
A D B
7= 3B and DC are angle bisectors of isosceles triangle ABC. Angle A equals 70°. Angle
BDC equals
ALS3 B. 70
C. 110 B 125
8. [n triangle ABD, AD equals 13. AB equals AD. and Altitude AC equals 12.
BD equals =" A
ALS B. 10
C. 110 D. 125 <
A

9. Arca of a triangle ABC equals 13
AL 30 B. 39 B C

I
C. 80 D. 78
10. The area of the cross, formed by cutting four equal squares from

square equals 20. The perimeter of the cross equals
A.24 B.12J7

C.16]2 D. 43
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11. A plot of land is in the shape of a trapezium whose
dimensions are given in the figure below
A im E
& o . .,J-'-_""""_E__
Hence the perimeter of the field is F, e
13 m.r’: 12m
A S0rm B. 64 m P :
o =
D £ FoE
2. 72m D. 84'm < 3 m “
12. If the area of two circles are in the ratio 169 1 196 then the ratio of their radii is
AL 1R B 1O
G g | R
13.

[f the sum of the interior angles of a regular polygon measures 1440 degrees. how
many sides does the polveon have”

AL 10 sides B. 8 sides
C. 12 sides . 9 sides

14. A 4 cm cube is cut into 1 cm cubes. What is the percentage increase in the surface
area after such cuning?

A48 B. 3%
CLT5% [, 0%
15. If AE is paralle] to BC then angle E + angle D + angle C.equals
A. 60 B. 100 E
C. 180 3. 360 i
s /
EANﬁmSI(I
M
| 2 2 B 3 < 4 o 3 D )
8 B 7 D 8 B 9 A 10 A
11 o 2 [ 13 A 14 B 15 D
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